Midterm Review #2
Chapters 3,2,5& 6

Chapter 3 Review

Begin by defining the following: 7
a) Mixed number — a whole number with a fraction
b) Improper fraction — the numerator is larger than the denominator .
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Chapter 3 Practice Questions
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Answers:
1. 32 2. 2 3. 22 4. 1= 5. 1= 6. —=
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There were five main Exponent Laws that we looked at this year:
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Chapter 2 Practice Questions (write all answers as powers, except 6 which is a standard form)
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Answers:

5
1. (=2)? 2. —911 3. 51 4. -2—5 5. (B9 62995328

Chapter 5 Review
Begin by defining the following: _ 5 N CaoA= SN
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We can classify polynomials in two different ways:
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When solving a question, you need to first identify which like terms are present. To be
considered "like terms", the following must BOTH be true:
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Identify the like terms from below:
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"Chapter 5 Practice Questions

Add the following polynomials:
1. 3nd®—n*+4n?)+ (2n2 —n—"7n?)
2. (4n+2n3+2n?) + (5n +n3 —5n?)

Subtract the following polynomials:
3. (3—6n°—8n*)—(—6n*—3n—8nd)

4. (A4p* ¥ 1ip? —9p°) - (—14 +5p° - 11p%) —
Multiply the following:

5. =8n(=3n3+7n%?—4n+9)

6. 4x3(13x> + 18x3 — 28x* — 8x)
Divide the following:

—21n3-7n%+49n

-7n

4255 +48x3—-18x*—54x6
6x2

9. Also do question #19ab on page 257 in the textbook.




Answers:

1. —n*+5n3-3n2-n 2. 3n3—-3n%2+9n

3. 2n5 —2n*+3n 4 3 4. —14p5 + 14p* + 22p% + 14
5. 24n* —56n3 + 32n% — 72n 6. 52x% — 112x7 + 72x% — 32x*
7. 3n2+n-7 8. —9x*+7x3—3x% + 8x

O

a) Large Rectangle: (25)(3s + 2) = 652 + 45
Small Rectangle: (25)(s + 1) = 252 + 2s
b) (652 + 45) — (25% + 25) = 452 + 25
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